TSI Multiple Choice

@y=-55 By=1

z z+1
"8 9

(a) z=—-6 (b) z=6
. 1+§=—11

z

(a) z=2 (b) z = -2
A4—z=2(z—-4)

(a) z=—6 (b) z=6

. Find cif £k = c+ 293 and k£ = 20.

(a) c=—263 (b) ¢=263
.6(zr—2)—-12=2z
(a) z=-4 (b)y z=14

. Find y if 3z + 5y = 29 and z = 3.

(a) y=-2 (b) y=2
.z—20=5zx—- 20
(a) z=40 (b)y z=14

(c) y=17?

(c)Rz=I18

(c) x=—%

(c) z=4

(c) c=—273

(c) z=6

(c) y=4

(c) =0

(d) y=—?
(d) z=—8
(d) z ==

d) z=—4
(d) ¢ =273
d) z=—6
(d) y=-4

d) z=-4
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.10—2=2-10

(a) z=5

r 3z
Z+§>10

(a) z< 8

Find f(4) if f(z) =

(a) f(4)=12

Find A if A= mr?, 7w = 3.14, and r = 6.

(a) A=1.1304

FindCifC:%(F—Bz) and F = 50.

(a) C=6

(b) z=0

(b) z>8

z+ 10

z—5
(b) f(4)=0

(b) A=11.304

(b) C =8

Find f(-3) if f(z) = 22% — 4z — 10.

(8) f(-3)=-10

(b) F(=3)=10

Find f(8) if f(z) = z72.

(a) f(8)=38

Find f (i) B i) = i o2

@ f(3)=-¢ ® £

(b) f(8) =64
3

J=4

1

(c) z=10

() z> 16

(c) f(4)=-14

(c) A=113.04

(c) C=10

(c) f(-3)=20

(©) f®) = 5

d) = =—10
d) z <16

(d) f(4) =14
(d) A=1130.4
d) C=9

(d) f(-3)=-20

@ @) =5

@ f (i) —_16
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st (2) (2)

(a) 8z (b) 4z
2
Simplify £ dudo
(a) z+ 22 (b) z+4

Find N if a2 + N + 86> = (a + b)(a + 8b).

(a) N =2ab (b) N =6ab

© 4= (@ 5
() 1+4z (d) 1+2z
(c) N =9ab (d) N =8ab

Find V if V = nr?h, r = 6a, and h = 2a + 5.

(8) V = 36mad + 180ma?
(c) V = T2ma3 + 180ma?

(b) V = 36mwa3 + 180a®
(d) V = T2ma® + 180ma

Find the area of a rectangle if L=z +3 and W =2z — 9.

(a) A=2x%—-32+26
(c) A=2z2 -3z -27

Simplify (2:vy8)4

(a) 2z'y? (b) 8ziy®?

(b) A =22+ 3z +27
(d) A=222+3z-27

(c) 16z%y32 (d) 1623y

(c) z=4b (d) z=2b
375y257 325y27
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922 2542
Facto 1'1—6—4—9

@ (5+3) (-9
o F+3)E-7)

Solve z2 + 2 = —3z.
(a) {1,-3}

Solve (z +2)>=9
(a) {-9,9}

Solve \/z +2=15.

(a) z=-5

3z+2y =
dz+T7y =

(a‘) (‘L‘a y) = (—1: 1)
(c) (z,9) =(1,1)

Solve

(b) {—1’ _3}

(b) {5,1}

(b) =5
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(c) {-1,-2} (d) {-1,2}

(c) {-5,1}

(d) {-5,-1}

() z=9 (d) z=-9

(b) (z,9) =(1,-2)
(d) (Z, y) = (—1"—2)
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